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All know, the sister of a Chalutoh is D’Rabonon, for ' said; here Rebi
taught the sister of a Chalutzoh is D’Rabonn

Overview

27 92K X177 27 ruled that if the ‘husband’ of this 7°aR ny7% XYW AwIpnw mvp died
(without children) and left a brother (where usually there 1s the obligation of 012° or
7¥°51), and this surviving brother gave her 7%°%17 (but did not make a 2&»), she does
not require X, for everyone knows that %771 N is only 332777 10K, [as 2" stated
that °27 taught this in this 71wn], and all realize that w17°p are 7nINR2 109N,

moon tells us where is this 7awn where 27 71w IX3:
= 15129519 X2 NELIN HNY AMNNX NN AN XY 1NN NDIND (x,xn 97 HNNI2 1YY

For we learnt in a 73w in n1%22° noon; one who gives 173517 to his 7229, and his
brother married her sister and he died, she requires 7%, but is not permitted

to have 212%. However -
- 20%29N 1AL nNYYNN 13 D9V 5717 HMHNRK NN PARXR NUN NYN HX ¥IIMNIH

One who divorces his wife and his brother married her sister and he died, she
is exempt from 7x°517 and 212 -

= 3790219 MY NODY NV MNXR 1Y MDY
Because the widow is the sister of his divorcee, so she is an 7179¥ to him as long

as his divorced wife is living -
- 95915 529 1Y NI WIPY YWY YIND 1T NIYN YN

And regarding this 77wn, "1 stated; ‘here, °37 taught, etc. that ninx 31277 7190 MR
RNPTIRT W5

mooin asks:

' 11wmw 32387 and "% were brothers. 12181 married 911 and died childless. 17w was 217 v911. Then 12 married X% (the
sister of 21, and died childless. X7 is 212°% APp7 to WY, therefore he needs to give her 751, however 1Wnw is not
permitted to be IX? 02n since she is the sister of \n¥Y>n (who is 117) and n¥Yon MR is (132777) 7ox. However since
XN>»7IRTA the NP MINX (which is 7xY) is not forbidden to 1Ww»w therefore XY requires 721 to be PW? nnn.

2 A similar case to footnote # 1, where 72187 married 917 and divorced her; "» married nx> (the sister of 917) and died
childless. XY is exempt from receiving either 7¥°71 or 012° from J2R".

3 One may not marry his wife’s sister; it is one of the N1 as it states (in 1°,7> [>InX] X7pP>1) that nPN X2 ANIMR 9X TWK)
7m2 %Y My mva? M. This prohibition applies even if the husband divorces his wife, nevertheless the sister
remains an MY to him. Therefore even if his brother *> dies childless there is no 012> np>1 for 1217 to marry x> the
7IM9R who is 1w Mink. However 1120 MR is n"7n 0 it is only 1312772 0K, therefore she is n"nn 7350 2701 but
132777 027N777 7K.

4 The entire Maon up to this point is (seemingly) taken verbatim from x> 7"7 >"w.
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And if you will say; even if he did not make a 9282 to her, she still should require
IR -

= 5PAN 123 IN 12ANA POIN PYITID PN IR RNDY WINY

For we should be concerned that perhaps people will say that 32175» will not be

effective if his father or his brother’s son will be w7pn her; they will say that -
— 12 5V N7 IN 7aNR DY 1N NN EPYUNID NNINIY 19N 9D

For the people will assume that the father consented to the marriage to the first
(deceased) brother, so the 121511 is the daughter-in-law of the father, or the aunt

of the son -
- MPYNIY N NXINI NOY EWNNY PN NDPINNY 1Y 1)

So we should have required her to make }38%% in order to inform us that the father
was not 773701 even to J2IR9, so therefore we will know -

- 12 109N 127 PYYTP IN ANT SVITP)
That the 1°w17p of the father or the nephew are effective.

N1v0IN answers:
- 132 DY POY DIV NY DAY INRM 10aRN NIYTPIY NI NNIIY NYT NNDIIT 999 W

And one can say; that it is something unusual that the father should be wp»

her, since she was involved with his son -
— AYTPY 7YY 1aY NPNY INYI YIN 99 DTN PNRY

For it is not usual for a person to associate with his daughter-in-law, thinking
about being w7p» her -

3> For convention’s sake let us assume that 2py> had three sons; "1 1waw 72987, and M2 had a son nip; where 1217
married 7m1 and died childless while she was still a 73vp (who was TWTpnI to PR NYT? XOW 12IX7). 1Wnw was then yn
to 7m. If 2py° did not consent to 7r7 TR to 1287, so 2Py and NP may marry 20, for she is not related to them (her
marriage to J2IX was meaningless since IR 7¥01 X?). However people may mistakenly assume that 2py° and nip
cannot be 9m1 wpn, for she is their daughter-in-law and aunt, respectively.

¢ They will assume that the father of 11 was 7¥7n1 for 1218 w17 to 2117, since they see that WnWw is giving her x5,
If the father was not 7¥n3, why is 7%°21 necessary since they were never married. The people may not realize that the
Y90 was given poon, that perhaps the father was 7¥7n1 (and 211 is DAp 2w INTIT 2p3° YW 10%), but perhaps not and
she is not related to them at all and Pw17°p are 712 PODIN.

7511 was (perhaps) married to 72187, which makes 7m1 the 1795 of 2py> (the father of 121%7). It maker her also the aunt
(my marriage) of nap the son of M7 (the brother of 121x7).

8 Just as in the previous case(s) the 13°» is not necessary per se (for the woman is either nwT1p» or not); it is only to
inform us that there is a distinct possibility that she is not nw7pn and Pw17°P may by 0910 by her (relative [sister]).
Similarly here too we should institute 118 to inform us that she may never have been married to j2%1 and the 7P
of either 2py> or NP are 12 1°0OIN.

% See ‘Thinking it over’.

19 The rule is that the a°»31 do not institute enactments for unusual situations. This concern if far-fetched, therefore
the o°non did not see it fit to institute 13 [as opposed to the concern of MNWR NINR (as NMOHOIN continues to explain)].
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Even if she would be permitted to him, like in this case, where if the father of the

17172 was not 773703 not to the first brother and not to the second brother (she would be

permitted to him), nevertheless he does not think about it -
- 1273599 NN 1PN 17 NNION INYIY 29)

Since his daughter-in-law is forbidden to him even after the death of his son (her

husband); therefore he never thinks about her as a possible wife -
= ADEN DX N9Y INYT NN INRD NINNN INYNX MNN YaN

However by his wife’s sister, who is permitted to him after his wife’s death; he

thinks about her and associates with her; there is a distinct possibility that he may be

vy her -
$PIYTPIY YINI NNY 9272 NP 095N 1YY a9

So therefore the 2°%21 made an enactment in this matter, for perhaps it might
happen that he will be \nWR MAX wIpn.

Summary
A person may contemplate to marry MNwX MR ([when permitted] since she is

permitted to him nn 9nXY), but will not entertain to marry N7 N2 (even if
permitted [since they are 010K even 1n°n IRY])

Thinking it over
Moo writes that we should require 1% in order NWRA? AR 737N ROW vNia7.13

Seemingly the 18" is to the living brother who made the nx¥°5n. However how does
that indicate that PWX% AR 7801 RH? If it is NWRI? AX 7¥N1 X9, why are we making
X2

111t is not clear what n1901n means with 717 X1 (the second brother), since the second brother only gave mx>r.

12 The same applies to the nephew where his aunt is forbidden to him even after his uncle (her husband) passes on.

13 See footnote # 9.

14 In the case of 7nx» 72 nwy, the X1 (supposedly) removes the 7nx» (even though there is a ©3), and tells us that the
qn&n had no validity. Similarly in the case of 2Rk nv7> X>w 7wIpPn1 the 1% has some meaning (even though she
receives a v3), but she is at least 187 to a w17°p. However here where he was nKn 72 7wy 91 v9m; there is no meaning
to the 111! [Unless the 1% is for the first w17 (to her deceased husband).]
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